= S
- (47 18p 3247 22p)
B4 40 (PH )

By Fit R Fipyt

A2& (%9 % b= A3 |MiEm H=x

Ade |4 %5 Ra&bx ASl |3E3 % 5% WEELHX
MRFOHX iR 10=x

ABE %R 5x *225x%x [(ATE |[4#8% 5x ARR¥ 5=x
%3k bx HREBSLX AR 40 X Heatéx 20 <

A9 #H |m#&# b= All &2 | ®REP b= Fik#F 10X

Al2 &= | AL b=

R gt R Flpt

B2 k& |#iA 2 5% B3k |3#m&E 10k fiwkbH=x

A2 4 5= Sami 10 =

B4 % |Milan 25 = ﬁwiﬁ?]&r. H =% B5 & %'bf}x h=x i 10=x
#P4 5 FEe 10 #TE 5=
ik b=

B6 & |+k=HdF 5= BT |m#@f 5=

B8 (%% 156 HE#& 5x |Ble |WMESMHx FEHX¥ H=x
fz#% bk MAE LHX 553 5=  #gF 15 =
ifide 20 ¥4#H# 5= ¥ £ 10 =%
3 20k ERE 20K




B10 2=

B13 &

% 30 =<




5

i

RS &

5% (47 25p 547 29p)

4 A (PH=H)

By g2t R gyt
A2 |39 % 10x ¢ @47 5% |A3%w |[M ¥ 5=x Z4F5Hx
#Ep 105 mpwp 5=
Ade |BB#F 5 FHEIOLX A5 |33 DX HHEHOLX
FRE#ELHx R 10
AT |AR% 5% wH M 30 [A10 2 |[2X% 5% SA% 10
R 5% f4ALX
gk 5 =X R%ae b=
All 41 | BRex#¥ 20 BRA& =X (A2 WAL S FEFH 156=
MEST Hx WA F 15 =%
¥3# 10=x
Al 2 |[$FE 10x % E# 5%
AW 6 FX# 5=
R Fiit AT Fd4pt
Bl |#3%i# 10 ®#H® 10 B2e pi% 5% %&%L 565X
IHEHX HL¥EHX Hipk 5% FiE4 b=
$91 5x ITRFHLHX
B3x |%+¥ b= #HFHE IDxXx |B4w Em#b=x Milan 30=%
Pl 5% HHE5= AR E N VN
Bigr 10 24 5= dma 15 WEeg 10x
Boe | REE 5% %% 10% |pre MEBFI0X ik 10x

w105 F3& 10
Dakchyata 15 =

BRF 10 B4 4 5%




B8 |®ip% 5% FH%E5x% |(BoE |WES 0% FAF bX
PER 5% WEE 5=x F15572 10 Z¥H 2=
23% 5% MAE 15 #ER S5 EF 15
FHme5 % g 15% R 10 FEH 4=
: P 3Bx E#F 5% Fam 10 ¥&3 10X
JFEF 255 P B 15

BlO 2 | § %45 D% %%E 10 |13 |#¥®5X HPHH HHX
4 5% WL 5=
FFi6 5% HnE 5=

Bl = |BFzE# 5% Mp% 10X
FiF 5% yoeg 5= BI5 & |42 # 80 % 3E%4 5%

%24 b=




